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Sr Questions Answers Choice

1
Hardly had he finished his lunchthanthe phone rang.

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">when</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">while</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">then</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">since</span>

2
Netaji was by a fara great manof India

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">a very great
man</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">the greatest
man</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">too great
man</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">No
Correction</span>

3
There is nothingmore miserablethan the unemployment

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">quite
miserable</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">very
miserable</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">as
miserable</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">No Correction.
</span>

4 It isenough fatalto a animal as to a human being

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">too
fatal</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">as fatal</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">so fatal</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">fatal</span>



variant-caps: inherit;">fatal</span>

5
The winter hasset inand the days are getting colder.

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">set off</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">set up</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">set
with</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">set in</span>

6
He stoppedto worktwo hours ago.

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps:
inherit;">working</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">at work</span>
C. with work
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">to have
work</span>

7
She is not only prettybut very charming

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">very also a
charming</span>
B. very charming
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">but also very
charming</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">No
correction</span>

8
Heis working inthe company since 2000

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">is working
with</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">is working
at</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">has been
working in</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">have been
working in</span>

9
There was nocause of anxiety.

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">cause for
anxiety</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">cause to
anxiety</span>
C. cause with anxiety
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">No
correction</span>



10
A bird in hand is worthtwo in bush.

A. two at the bush
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">two on
bush</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">two at a
bush</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">two in the
bush</span>

11
If yoursister yet atthe sports complex

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">sister till
at</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">sister continue
at</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">sister still
at</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">no
correction</span>

12
I knew that they wereheading intoa serious disaster

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">heading
at</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">heading
for</span>
C. heading along
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">heading
towards</span>

13 Hesent a wordto me that he would be coming late.

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">sent
word</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-

variant-caps: inherit;">sent few
words</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">sent
words</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">sents a
word</span>

14
He was asking myopinion forthe film.

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">opinion
on</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">opinion
about</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-



font-variant-ligatures: inherit; font-
variant-caps: inherit;">opinion
with</span>
D. <span style="font-family: Georgia,
&quot;Times New Roman&quot;,
Times, serif; font-size: 16px;">No
correction</span>

15
Please try to remember whenI, you and my wifewere talking there

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">you, I and my
wife</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">I, my wife and
you</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">you, my wife
and I</span>
D. <span style="font-family: Georgia,
&quot;Times New Roman&quot;,
Times, serif; font-size: 16px;">No
correction</span>

16
Leader said, that he is committed to give a jobto all the unemployed

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">to the
unemployed</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">to each of the
unemployed</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">any of the
unemployed</span>
D. every unemployed

17
The reason why he leftthe home wasbecause he was feeling hostile
there

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">the
home</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">the home
has</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">the home
were</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">the home was
that</span>

18
Mr. Manoj teaches very well,isn't it?

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">didn't
he</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">doesn't
he</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">wasn't
he</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">if not
he</span>

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-



19
Mr. Manoj teaches very well,isn't it?

font-variant-ligatures: inherit; font-
variant-caps: inherit;">didn't
he</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">doesn't
he</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">wasn't
he</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">if not
he</span>

20
I shall not gountill I aminvited.

A. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">unless I
am</span>
B. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">till I am</span>
C. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">once I
am</span>
D. <span style="font-family: inherit;
font-size: inherit; font-style: inherit;
font-variant-ligatures: inherit; font-
variant-caps: inherit;">if not I
am</span>
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